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Perfformiad yr holl ymgeiswyr ar draws y cwestiynau

Teitl y cwestiwn N Sgôr gymedrig GS Marc uchaf Ff H Cynnig %
Part A 6362 17 3.7 27 63 99.9
Part B 6351 9.1 4 22 41.5 99.8
Part C 6309 4.8 1.9 11 43.6 99.1
SPaG 6313 2.3 0.9 4 56.9 99.2
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Sticky Note
Rhif y cwestiwn fel arfer

Sticky Note
Nifer yr ymgeiswyr sy’n ceisio ateb y cwestiwn


Sticky Note
Cyfrifir y sgôr gymedrig trwy adio sgorau'r ymgeiswyr unigol a'u rhannu â chyfanswm nifer yr ymgeiswyr. Os bydd yr ymgeiswyr i gyd yn cyflawni'n dda ar eitem arbennig, bydd y sgôr gymedrig yn agos at yr uchafswm marciau. I'r gwrthwyneb, os bydd ymgeiswyr yn gyffredinol yn cyflawni'n wael ar yr eitem bydd gwahaniaeth mawr rhwng y sgôr gymedrig a'r uchafswm marciau. Bydd cymharu'r marciau cymedrig yn syml yn dwyn sylw at yr eitemau hynny sy'n cyfrannu'n arwyddocaol at berfformiad cyffredinol yr ymgeiswyr. Fodd bynnag, gan nad oes i bob eitem yr un uchafswm marciau, arwydd rhannol yn unig o berfformiad ymgeiswyr a geir trwy gymharu'r cymedrau. Nid yw cael cymedrau cyfartal o anghenraid yn golygu perfformiad cyfartal. Os oes gan gwestiynau uchafswm marciau gwahanol, dylid defnyddio'r ffactor hygyrchedd i gymharu perfformiad.


Sticky Note
Mae'r gwyriad safonol yn mesur gwasgariad y data o gwmpas y sgôr gymedrig. Po fwyaf yw'r gwyriad safonol, mwyaf gwasgaredig (neu lai cyson) yw perfformiadau'r ymgeiswyr am yr eitem honno. Mae cynnydd yn y gwyriad safonol yn tueddu i fod yn arwydd o amrywiaeth gynyddol o blith ymgeiswyr, neu o bapur sy'n gwahaniaethu fwy, gan fod y marciau'n fwy gwasgaredig o gwmpas y canol. Mewn gwrthgyferbyniad, byddai gostyngiad yn y gwyriad safonol yn awgrymu bod mwy o unffurfiaeth ymhlith yr ymgeiswyr, neu bod llai o wahaniaethu ar y papur, gan fod marciau'r ymgeiswyr wedi'u clystyru fwy o gwmpas y canol.


Sticky Note
Uchafswm y marciau ar gyfer cwestiwn arbennig.

Sticky Note
Mae ffactor hygyrchedd eitem yn mynegi'r marc cymedrig fel canran o'r uchafswm marciau (Uchaf. Marciau) ac yn fesur o hygyrchedd yr eitem. Os yw'r marc cymedrig a enillir gan yr ymgeiswyr yn agos at yr uchafswm marciau, bydd y ffactor hygyrchedd yn agos at 100 y cant a'r eitem yn cael ei hystyried yn hygyrch iawn. Fodd bynnag, os yw'r marc cymedrig yn isel o'i gymharu ag uchafswm y sgôr, bydd y ffactor hygyrchedd yn fychan a'r eitem yn cael ei hystyried yn llai hygyrch i'r ymgeiswyr.

Sticky Note
Mae'r tabl, i bob eitem, yn dangos nifer (N) a chanran yr ymgeiswyr wnaeth roi cynnig ar y cwestiwn. Wrth gymharu eitemau ar y mesur hwn mae'n bwysig ystyried trefn ymddangos yr eitemau ar y papur. Os oes cyfanswm amser cyfyngedig i'r papur, mae'n bosibl na fydd gan rai ymgeiswyr ddigon o amser i gwblhau'r papur. Gall hyn olygu, yn ôl y mesur hwn, fod gan yr eitemau hynny sydd ar ddiwedd y papur ffigur datchwyddedig. Os nad ystyrir bod yr amser a ddyrannwyd am y papur yn ffactor arwyddocaol, gall canran isel olygu bod problemau hygyrchedd. Pan fydd ymgeiswyr yn cael dewis cwestiwn mae'r ystadegau'n dangos blaenoriaethau'r ymgeiswyr, ond dylanwad y polisi addysgu yn y ganolfan hefyd.
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Part B 
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 (ii) Suggest why one of these 
groups of people may be 
against the plan to retreat the 
line at Seaside Heights. 


Do not credit choice of group. 
 
Credit up to two valid statements 
each with one mark (to max 2). 
 


For either valid statement, credit a 
valid explanation/ development 
point for one additional mark (1+2 
or 2+1). 
 
Or credit one valid statement that 
is explained by a chain of 
reasoning (1+1+1). 


Home owner: 
 
Some homeowners will have to abandon 
their homes / lose their home / don't want 
to move (1) causing distress (1) splitting 
up communities (1) losing cultural 
heritage (1).  May move some distance 
away from their workplace (1) resulting in 
higher commuter costs (1) 
Spoil retirement plans (1) 
Cost of having to move (1) 
 
Town Council 
 
Pressure on Toms river as people move 
in (1) 
More demand for housing (1) 
Already spent money on coastal 
defences (1) 
May be concerned about loss of 
business / tourism (1) loss of jobs / 
incomes / taxes (1) 
 
 
Hotel Worker  
 
Lose jobs /income (1) lose business (1) 
struggle to find new work (1) have to 
travel to new job /area (1) Hotels may 
have to be abandoned (1) so workers 
may lose their jobs / struggle to find new 
work (1) 
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	 (ii)	 Awgrymwch pam efallai mae un o’r grwpiau hyn o bobl yn erbyn y cynllun i encilio’r 
llinell yn Seaside Heights.	 [3]


		  Grŵp:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  Pam efallai mae’r grŵp hwn yn erbyn y cynllun i encilio’r llinell.
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Option 
3 (a) 


Study the information on page 8 of the separate Resource Folder.      


 (i) Describe how 
hard 
engineering 
protects the 
coastline from 
erosion and 
flooding. 


Credit up to two valid statements 
each with one mark (to max 2). 
 


For either valid statement, credit a 
valid explanation/ development point 
for one additional mark (1+2 or 2+1). 
 
Or credit one valid statement that is 
explained by a chain of reasoning 
(1+1+1). 
 
Be aware of students repeating the 
question i.e. sea wall / rock armour 
stops erosion / flooding. 


Wave energy is reduced by boulders (1) so 
hits coast with less force (1). 
 
Wave energy is reflected off sea wall (1) 
because wall is curved (1) 
 
Wall is high (1) so waves can't get over (1)  
 
rock armour breaks up waves (1) made of 
hard material / hard to erode (1) 
 
sea wall curved so waves broken up (1) and 
energy reduced (1) 


3    3 


 (ii) Suggest why 
the 
government of 
New Jersey 
may think it is 
not 
sustainable to 
protect 
Seaside 
Heights with a 
sea wall.  


Credit up to two valid statements 
each with one mark (to max 2). 
For each valid statement, credit a 
valid explanation/ development for 
one additional mark (2+2). 
Or one valid statement (1) and a 
second valid statement that is 
explained by a chain of reasoning 
(1+1+1). 
 
Max 3 if no reference to future / 
sustainability. 
 
Indicate reference to sustainability 
with an 'S' 


Hard defences need frequent repairs (1) 
which are expensive (1) so the government 
may not be able to afford them in future (1). 
 
Sea levels are rising / storms more frequent 
(1) so sea wall may not be high enough for 
all future floods (1) 
 
Expensive to build (1) Not attractive (1) 
Puts off tourists (1) reduces future income 
(1) strong storms still go over (1) expensive 
for small settlements (1) 
Long coastline to protect (1) so expensive 
(1) In future there may no longer be a large 
beach (1) so not as effective (1) 


2 2   4 


     8 11 3  22 
 


End of Part B  
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Rhaid i ymgeiswyr ddarllen cwestiwn yn ofalus e.e. yma, y cyfeiriad at gynaliadwy.
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Examiner
only


	 Option 3: Hold the line using ‘hard’ engineering. A combination of rock armour and sea 
walls could be used to protect the resort of Seaside Heights.


	 (a)	 Study the information on page 8 of the separate Resource Folder.


	 (i)	 Describe how hard engineering protects the coastline from erosion and flooding.
	 [3]


	


	


	


	


	


	


	 (ii)	 Suggest why the government of New Jersey may think it is not sustainable to protect 
Seaside Heights with a sea wall.	 [4]


	


	


	


	


	


	


	


	


End of Part B
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Question. You should advise which option the state government of New Jersey should use to manage this coastline. 
 


3 7 1 4 15 


TOTAL for Unit 2B Foundation 19 24 17 4 64 
 


LEVEL DESCRIPTORS FOR PART C 


 Award 0 marks if the answer is incorrect or irrelevant. 


Level 1 
1-3 marks 


The candidate's response contains little specific detail about the area.  There is no elaboration beyond that provided directly by 
the sources.  
Communication is basic: there is little or no structure and/or ideas are communicated in brief statements/bullet points. 


Level 2 
4-7 marks 


 


The candidate's response contains some specific detail about the area and option.  There is elaboration of ideas beyond that 
provided by the sources. Information is communicated by brief statements.  There is a basic structure.  There is some accuracy of 
spelling, punctuation and grammar. 


Level 3 
8-11 marks 


The candidate presents a letter that considers the options in detail.  Different options are considered, along with the effects of 
each and a clearly explained decision is made. Communication is clear and logical. Spelling, punctuation and grammar have 
considerable accuracy.  


 


Performance descriptions spelling, punctuation and the accurate use of grammar 
 


0 Candidates do not reach the threshold performance outlined in the performance description below. 
Threshold 


performance 
1 mark 


Candidates spell, punctuate and use the rules of grammar with reasonable accuracy in the context of the demands of the question. Any 
errors do not hinder meaning in the response. Where required, they use a limited range of specialist terms appropriately. 


Intermediate 
performance 
2 - 3 marks 


Candidates spell, punctuate and use the rules of grammar with considerable accuracy and general control of meaning in the context of 
the demands of the question. Where required, they use a good range of specialist terms with facility. 


High 
performance 


4 marks 


Candidates spell, punctuate and use the rules of grammar with consistent accuracy and effective control of meaning in the context of 
the demands of the question. Where required, they use a wide range of specialist terms adeptly and with precision. 
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penderfyniad yn cael ei wneud, ond heb egluro yn llawn pam, yng nghorff y llythyr.
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Part C


You are advised to spend about 35 minutes on this part.


In this part you will advise the government of New Jersey which option is the most 
sustainable way to manage the coastline of New Jersey.


The options are:


Option 1: Retreat the line (also known as managed retreat).


Option 2: Hold the line using ‘soft’ engineering.


Option 3: Hold the line using ‘hard’ engineering.


Use the Factfile on page 9 of the separate Resource Folder to complete the following matrix to help 
you organise your ideas. One idea has been added to the matrix for you.


If you choose to use it, you should spend no more than 15 minutes completing the matrix.


© WJEC CBAC Ltd.
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You should advise the state government of New Jersey about the most sustainable way to manage
its coastline at places like Seaside Heights.


Use the information in your matrix on page 10 to help you write your letter. You may also use
information from other parts of this paper as well as ideas of your own.


Marks for spelling, punctuation and the accurate use of grammar are allocated to this question.
	 [11+4]


To the state government of New Jersey


I am writing to advise you to:


© WJEC CBAC Ltd.


I have chosen this option because


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


Tick (√)


Option 1: Retreat the line (also known as managed retreat).


Option 2: Hold the line using ‘soft’ engineering.


Option 3: Hold the line using ‘hard’ engineering.
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